WINFAIR INVESTMENT COMPANY LIMITED
ABEHEARLA

17 8 WA 3 2 A PR 2 )
RE_EZ=ZF=ZA =T HILEE
e 88
KB AR AT (AR F D) H R E AL SR B AR (TRER]) s 2% =

FEA T HIEFEERERGRGES BB E —FF - F = =2 HIEFEEZL
WM

A4

“EREAE TERE AR

Jf 7t T # F i oo

B I 13,776 10,058

H %A (1,693) —

12,083 10,058

HoAth g A 598 1,059

12,681 11,117

17 e 5845 2 (3,668) (4,130)

& W 77 I (E HE A (7,979) (3,800)
B OE K H AR R

KB 2 R (3,018) (103)
R KRR

S ER AR (8,850) (4,975)

= W R 5 4 4 (530) (80)

B Fl R AR i

X% # (11,364) (1,971)

il ¥ B A - —

B BE i e 1 (11,364) (1,971)

i, T 2 (1,186) (796)

A AR B i 41 (12,550) (2,767)

(533 7F 3 RIY] (AL

1 —



it it

1. BEMR
BEFOREEEREESIBA > E LBEIWRA -
2. B
A 4
—REAR T BE AE
T # I T # o
T s F 15 Bl A 47 B e {5 (935) (796)
iR 1 A R A TE R A
N EFHBA (251) —

(1,186) (796)

T s P AS B T) i B AAE FE AL 5T E SR B Al LLBL R 16%(—FE —4F 1 16%) 1 -

3. 5 B i 15
B s 1 T R 32 BR B AR 42 A 518 12,550,000 00 (- FE —4F 1 2,767,000 70) M 7E 5% #A [H
C #4174 40,000,000 (—FZF 4 : 40,000,000/ )z B H o

B BLRE W K o B
E 3

AL B R AR 8 SR 5 13,800,000 T 5 K EAE FFHAI3T% o EERE F I EREFEE RN
EEBESTHEEHNEEARZERABRB A MR - BESEHELF > AELEHEA
AR 2 1R R B 0 & 4 12,600,000% T > 3 E I il it B B bl £ 8 R ) 26 W (R I A S %
1 (B R WE B8 0 49 11,000,000 JT o

L E'X 4T

JLHEF LB 20120398 2 P E Y B RIEH #E TRHREKTE > FHRERF L » HiE
M Bz K G AR o DA > R TEIBE L 2 B AT E| o AN 4E B OE BLEUG i B R b
SR B BT ] E -

YERE

AEBZYEREHSFTELHHENT - EHFBRBIREEET > WEHEEFRINY
B R - BMERY B AR LAFEME > HIRMEE S %%m%m%mimﬁw%Tﬂ@
71 MiEBEYEZ FHHEWAE T > WEEEINREE T o M358 7 9 Ak ([ Rl
PP EYEAGIN T FEFEEZF AT B2 ABTE - R AEE B B EA W AE T
#]10,900,000% 7T °

JBE 55 B R B B A

AEEMPBAEZBREREHAATIESRY L ENRE - R EH G H DI HE 2 Kk E
WA > TR E A GRS EE AE - NFER > AL EEAREERBHE 41,000,000
T > &ﬁ%ﬁﬁ;’kfﬂimgﬁﬂﬂﬁloooooopﬁm A I B T B AR > AS 4 BN AR R 2
12 1A K e B R 5 B & 4 m U (i A A K 8 B S 4R 5 46 49 11,000,0009 T ©

AR 2 B £ 3,300,0004 06 0 B LA N A)53% o




U B B 4 B W o ok

— WU AREEWERIIMEE  TEFRFABRBES RN FEF=-A=1+—
H > A4E B 0] 8 F & 417 H0R 8817 49 44 39,000,000 7C > éi*?Eu%ﬁHﬁ% N TH
H# R L o

Jé B

TR A AT RS Y ST E R - KRR B RE AR DL P AT o A A — B 1] - H AT
FAAE - 55 v M B0 By 4R ) A% - 7 s 0 K8 I AR B i o TR OR T B AR AR R ROR AT >
AN B AT A A 2 A DR ST SR > DL ISR L B e R 5 A LR A 2 M) g

JB &

WEEEZFE—H S REBECIRE S HE S RB B (CEST F ) &
800,000%5 7o (—FE — 4 800,000 JC) °

FHHEHEBN EEZ=ZFENA -+ HHABZBRFEAF KRG LEEEE T =4=H
:+~H¢$ﬁﬁ§*%ﬁﬁ%%%7mC>i o t&%%mmaﬁgﬂﬁﬁ
2,800,000% JC (- FEEF 4 : 2,800,000% 7T) o HEEAE ~FF =4 JUH = H 5 DLETAS 2
CARPBME X ETFTHE _EFEZZFNH T _HEETAERRZ M L2 BER -

AL P |

R 2 MR —FF = AA AR —2 " FF =40\ RN (FEMX
GAGAE ) I > B A O S R T A o SRR A RECRCE SR I - T A P 3
> LH%%Z%TmLﬁ#Q??QEAH+ﬂHE%£T¢@ﬁW%%$A72&
SRR PO RO R R W B 5 B 1835 A M D UM A R R R R B R A IR R
faf o

032 49 0 21 4

AL E BT ZAFEREAA RS 165E45() BB ASGERIT L E Z B R > BT E
TE /W B G A8 2 I A R A A #9 35 (www.hkex.com.hk) I FI| & -
R 5 R
B3
{h. Wy 3%
Hils > _FEX=FLHTH



A o N Sl N - B

ZBREALFER ZFFZAN] AT H (BER) B SURE = A 20 R R A U L BE 0 2
SR U A N =R BE BRI R A K AT AR S R

HE

BHEA
L A% B

b 7HE H
HIEE
&
Y8 7

O SIS S F R S R AR R
HETer

R A R UK B R I S s Rl
5N A

HE A B R R % W R i M

I HIE o FRE MW T YRR SR R R

[ Bk

(F)

—ERE

— X <

TE T 3C () Be 2z BRI MARSE 2~ "R B2 T+ BB M > — etk e die fre
Pt EAS 2 7] HE 2R Je 0 AT B A TR AT B A 8 ] B R - 3R AT MO BB i 2 —
DIRE ST > Sl A HEAR 2 ) T SR R wT O HE R AT M SR E ) 2 B R ek
h e S 988 FE A

B3 (R Bz it e RT3 HEAS 2 W) HE 2R Je) 0 A B B0 T A BT O B AT R R A
[BF J00 TH] DA A7 O MG S 0 ) 2 15 I e~ Mo ik B R AR AE

4§/\4]§§%§F3ﬁ§ﬁﬁ (FH) Btz ik o P e 4% Bl (] 2 A 0% 14 B 2 Aok 18 I 3% (AN
,ﬁ\ﬁﬁi?}ﬁ%%%%ﬁﬂ?’%%ﬂm ) 2 A A (1) B R ﬁﬁﬂ’iﬁﬂxﬁﬁﬁﬂﬁs
iﬂ”ﬁﬁfﬁﬁ ﬁﬂjaﬁﬁbﬁwﬁﬁ Z 1 BBz A
S I BRE 2 PR

MARRE S -

[HBMM SR ARFERER B ETH =F 2R E AW L2 M

(i) ZN/NEEI I RV % B K SN i Tl S

Gi) AR IR B 9 8 0 AR 28 /R R B R AF K B 28 T F B 2 A PR s T 2
H 5 &

(i) AN AR TE B RO & b DA 3 P R 8 TR ol AR AR R
By 2T -

m%ﬁ%%hf$“7$$%%TmZ%ﬁWvﬁ%ﬁhmﬁzh&w%
] K B s — F5 2 me gk H A 2 R 4 I8 2 B O RO TC B R I 2 R (¢
A7%$Eﬁ%ﬁiﬁ&%il$%u%ﬁﬁ%ﬁ2%¢ﬁﬁﬁﬁﬂ%ﬂ
16 ok 7 #ﬁ%%zﬁmﬁ%ﬁzﬁﬁﬁﬁifﬁﬁzHﬁ%ﬁﬁﬁ%?
J8 B I T T 2 ME R B R A A BE

R HE F R A

IR /=2

B I B
=%+t H+H

i (7] B 22 B A o A 1A i I8 Y TR 2

4



